READING 01 Online Fandom

|  Words | .b 2.a 3.c 4d 5. f 6.e 7.h 8.g

| 2™ | 1. ¢ 2. b 3.d 4. the producers and the writers of TV shows / the makers of entertainment

| StoryMap | (1) Literature (2 letters ~ (3) multimedia  (4) websites

| EdEiy | . HS0| Conan DoyledZll 22 715l Sherlock HolmesE CHA| Al2|7| 3iE A2 Al=lel0], 2EE7IX| HEO| &
eztof F&k2 0Ix| U= Aol thslf AHsk= 20|Ch

2. Sherlock Holmes7t &= 228 2 A0
3. 22| =¢J20il Conan DoyleQ| Y35 o2 = A2 HWEO| REEH0IT U= O] OtLlZh= RS ZZs17] lsiAolct,
0| Conan Doyle0il7| &g 7HHZ0| 25| HES the producers and the writers of TV showsoil|
QS JFetCH22~258) 11 e o2 drama writers7t n Doylezt H|6t 2F0l| XMsH AUCD & 4~ UCH

| =225 2afol mg
1893H0f| Arthur Conan Doyle2 12| S&QIZ Sherlock HolmesE flst BE AMS M= o] 4150] HC J2iA]
1 ¥2 A7H= 3212 Sherlock HolmesZt &= (The Final Problem(DOFX[2H AFZA)Y0[2tD E2|= AMS MT|2 ?J!Ef.
J2iL} EXISE HolmesZt ChA| 0K ZE 276HH Conan DoyleoiAl 20| HX|E 8 & ACt 2
of A2 xS Ao golo| HAIZ 2H AH2|E HZIFCL ORI Z7h= ol 2SIt 190190 1= X AH
Sherlock HolmesZ CIA| S&AIZT, 1 HEFMO| L5 31T M2 AMEZ ML Sherlock Holmes?| HES mX|
2 AIRIE Ssll 250| 7H Z0toh= SERIES 3Lt J2iLt Sicle] HEQ! 2l= o|x HEA IAS sk=7t?

E —
RE|E tHEZ2 ZefH|at HE(O|T0)7} tiS220| X|HiAel HEl=M 28t HRICE Zdo SofSiTt. SAlof 2IE
Slof k= 21M17|2] T —OI REtES US0 U= AHS0lA AHo| HiE Edshs A W o g7l UEUC 2=
HE2 ZAO|E0| S AT YEHE SR37| floi M2 wFetch

£
Rt a4 A St I.‘_H% | ZE =, TH0| 20| M ZEISHE M=o| =IUCt =2kt ESA0] O|27(7EK] WSS X}
Alo| HAHE XIRE HEdotn, 1 ZAnt 250 Fefas EIck Conan Doyle| #ES0]| Sherlock HolmesE CHA| &
2|7| LlsiiAf B 2t 20| s WEE 50| S0tehs SEAS0| Mgtk A2 H To17| sl 2 20|
Ch OS2 mjuf2 HefH|™ T2 40| NZXStt 271504 EMAE AE2|of CHA| 2ot S 715t
AlZIO|Lt EaTt O{EEX] Zholl HE2 ofH FHACREX| AE2|0f et 252 AEE Eﬁﬁfﬂ H0f 5t I &e
2N AERIS PHS0] H ARISTH AlSsiA A& AE3dk= WM Helct 2|1 ofot= 3240] o AThEX| ZIEst M|
S #ok oLzt 24kl ZiolCH

| P2 | 128 and went on to write 31 new stories about the brilliant detective.: ‘go on + toR2&Al= ‘O U2 2H =
0l CHE LS stcteh= 2|0j0|H, ‘go on + SFAF= ‘O LS 5IH AS ASsICHE siAMEICH

2638 No matter what the time or place ~: Whatever the time or placeZ HIF0 & 4= T Foll may be7t A2k
& Heholct.
ex. No matter what the weather(= Whatever the weather), | know you will enjoy your trip.
SMTHOIEEX] Zhofl UI7F (g &2 Aoj2k=s XS L= eith

| Vocabulary | 1. privileges 2. rescued  3.interacted 4. giveinto 5. literature 6. protest 7. rewards

| Parrot Talk | 1. His favorite character was killed off in the TV drama.

2. You can interact with TV show creators by writing comments on a website.



READING 02 The Bandwagon Effect

Story Map

EMsHE

Vocabulary

Parrot Talk
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L REQ| 7|7H 19| Slthxtol SEHE AREQl ZAtZ TEE 2 UACH

.d 2.b 3. a 4c 5f 6.e 7.h 8.g

d 2.c 3.belonging 4. a

Candidates ~ (2)wagon  (3)else

A

rr

12 AE0| ArZ O ARl S2tek2

ro
&2

oh= A2l Znkol| Zferstct.

. The crowd would prefer to join the wagon loaded with more people. They must have felt better

following the choice of the majority at the parade.(12&)ollAl &S F2& 4 QUct

. A “sense of belonging” is a basic social need, and one may feel more pride and security by conforming
3

to the popular group.(i&)oliMd HEe F2& 4 dCt

L HE Ul T2 2E ARRIE0| st Qe AS Sithe AS QnlstEE |AXIS0| gt 25 oldXIE X[XIsh|2 2
stths a7t S gatel £2 ofjztn & 4= ot
Hs sat

AIIE2 iHZ Q17| U= IF0 £5k0 A0f Sioh ‘ASZP2 712Xl AS|H £50|, 27| Y= I5E HESEM

AR PSS o | LZX|E RECH ARMSE2 J2i8t LS £717| 2fsh 2 CHE AISES 2Ysict 01|— =
of, &} thE2 ZIRS0| Bt 2Tt RS ACh= 0|REUCE IS Feot= Z&0| QUCk 0|A2 ‘TS Fabo| MHE
Q1 offojct.

0| E0f= 100= Cf Foil 0j=0IM FNUCL SfTHRt= ZO|LH EA7F = XZHO|UC I22 Hfo|=0lM ZS2f 2
S B ol x| TEXE BFAE Holl BRI 7h= o ARSI AFRS0| titol Bt U= FEXE EA 7|
siiM 2= 0|7 F2E & X0[2k= 7(tiZo] AUUCE T2l Zik= RE ARESS =2 ok SUEAT B2
0| &M= Xjalo| 7He Eofsk= SEXIQ| ATHRIO| “S2HERRE FUCH J2iM SHO| Q17|= 9| oAthxtof SatEt ME*EQI
RAt= EEFE 4 URACEL 30 LT 0] ofet o= £ sttel S0|22 Ho| JRA=H, N2 2SS0 o B
== Ei2 it EFsIE o -‘-0}°HZPE Z0|UCE. 2S2 T 0|=0]1 A EHEH‘——I MERS WS o 7120 o %‘Rf’oﬂ
Ch AlZto] SEHAM “oftixteh= E0i= 0[2{3t Zelol tigt 272! E30| SRACE oM =277t 2lthxtol St
e = A CTE 22 APEFOI ot U= A2 Bith=E A2
=4 HWE Suk= FTIYA0M 71 E5HA 2oEICE oIS 501, 42 ChiEa 22 £220] AsEXE 2 ) "2

A TS0 of A== MP3 Z2{0]0f, Magic Eko2t Atof tiix] UEfLICH O[] G4lo] 11 0|FE Lord Rz iLcH”
AIME2 Magic EkoS AHX| ?;QE Aol 217 U= AF0| &oHK| ReICt 2| ot S k= IHS0iA AM22
NES Tict=S Z8ct=s 245l Y 21 T2l 240] 2Hs|tt

i) [IJIII]

2o
|:|I:lA
Chatm

rln

It was used to carry a political candidate ~: ‘be used to + SAIHE'2 ‘~5t7| loi AFS=|CHe| SL0|Ct, “~5f
= ol sl Ackel 552 2= ‘be used to -ing'et ES5HK| Y= Z St

o2

There was an expectation that people would easily remember and eventually vote for the candidate
riding on the bandwagon.: that 0|Gk= an expectationzt &Z0|2, riding on the bandwagon2 the
candidateE $Al5H= #EAF0|Ct the candidate= remember?t vote forel 35 =%{o{0]ct,

o2

They must have felt better following the choice of the majority ~: ‘must have p.p.& ‘~&ig0 E2igict
2= X2 W7ol LoitE ol chell EHhlS 2 i ARZ T

candidate 2. aspect 3. originate 4. odd 5. essential 6. phenomenon 7. conform

It means to do the same thing as everyone else. 2. They drew the attention of the crowds.



READING 03 Red Crabs on Christmas Island

|  Words | .d 2.c 3.b 4a 5h 6f 7.e 8.g

| Edzg | .b 2c¢c 3a

| StoryMap | Mc @a @b (4d

|  E2HBEiy | 1. &2 7S0| ®A7|E 5t7| Lo =0l M HICI7EX] Ho I&EH oS BiCh= LiE2l 22 71& & =8t M=2 The Long

Journey to the Mating PlaceO|C},

2. WIS 3 CIS0| £%0] BIX B2 S0P YU U2 W 130 MR SORICHI4~6H)D Hoo= 7t 29
gt Ux[3tcy,

3. Ed(privilege)0|2t CIZ AlEOIAI= Sl ®2l0|122 a7t FHo|Ct,

| mEay | Sz|AntA Mol B2
RS0 Sl M) JALDL HolA= ot OINE BHE BAT + 2k 3 ol 1430 FAV} SRR 1 224
2 0|°E Bl 22 Hi= E2 AHolc,
OZOILE 11RIZ0 SRIADIA o X #| 227t L2lst 717t BAMOER AIEE Ho[ck, 0142 B ASoA e
%% AIEIBHe AIZOICk. OF 19f 288t Dt2|o] AIS0] % 0] U= THOIA Liet BTk Zojzick BiCto] =23 B2 &
7| 93t B2 S M2 AT E28 AUD TAS SHSHT JHIE He ORY2 ZofZith RS iR Tt
O, o2 AKX E22 TIUSHA & 2o 2 S0{717|7HX| STt
sHol et of2lel 52 = U2 Wik} Ji= B0l 571 W0l &2 siciol SRsK RECk Taf o 1o 0f2 O

do| 52 7IS0| 79l 18 %‘.’_ Z0] HiCtZ 9| fi&et KoM HolgErt. RS2 HIHE0| &7 5= 2 o3l &
2t ’1.“5J7IE 571 23l E?H 2 ZojZict ®A7IE of oS0l +AS2 Hitk= =S017t ChA| 20 52 B2 =0, =
Xoil A= Hezo| o= A %._* b oF 25 =0f YAS2 HiTlollM 2Ixt 108 7HZe] &S 2 ofg HeZ S0k, o

=

g =0l A7| AIS0l —rszfoh_ Js09| 229t OHE AIS0| =Mt St siRtE EZ=2 oS Sfch M7l AIS0l Foil 7+
HE QU B2 X|=E 7R UX|= AChE AE D3fs 2H FHo= QlddEo|ct
S0 2T ofE LET ARSES MSLIA SHX|2E F2|AOA Hoi| Ak AFRISER ok +7= 1 7SS QoK o
Of StX| S4=rh. B2 AIRME2 7S Al 01SS X|FE= A= X2t ofZict. o] X|¥ FRUE2 1 0|S22FH of
28 0|S= 2X| Rst=tl, ol2 BRS| 7= HE + SU0iM 250| F=2 7E 22/ 4 7| HZolcH Tt siHte
s 28 FHE 5= S0/ HiTt= 0|S3UCH7L CHAl S0PH=E AS X|ZHE7| sl 12E0|Lt 120 22|A0tA ol &2t
=

=

| P28 | 2% it's the red crabs that make the most amazing migration.: the red crabs7} ‘it is ~ that’ ZZ=F20 2I5
Z=E 27o|ct

1784 Pretty impressive considering they've never been there ~: ‘considering (that)zt Z0| thatg M5t 42
Ol= ‘~2 1afs = 1Sl 2J0[0]H, ‘considering + BAF HEfQ| AR= ~of Chsll H2tstHLE T2fs = w2 siAd
Elch

N
=
0%

Many people consider it a privilege to watch the annual migration.: it2 to watch the annual migration
2 2= 712 X0{0|1, a privileges SHZAHUZ AR E|RAC

| Vocabulary | 1. dipped 2. definitely 3. migration 4. approximately 5. steep 6. annual 7. made it

| ParrotTalk | 1. They go to the ocean to mate. / They go to the ocean to make baby crabs.

2. They get lost or die along the way.



READING 04 Going Dutch

|  Words | .a 2.d 3.c 4b 5h 6g 7f 8. e
| E2d¥Eg | b 2.d 3. c 4ec
|  =2xsia | 1. ool Dutch2t 20| Z&HE 2+t O 2 ANt £ off 27 2n|S2 #A =IU=XIE dYst= 20Ich
2. leave= ‘|74, 817t2k= XOIX[2t Dutch7t S0{ZF 2 EE50| 25 2FXQI on|§ Zn Qrtn 3eoz dx=2= {7t
Lt 517t 2X| 1 7|IXIE MEES F2 4 Tt
3. 16521t 1674'3 Ato|ofl F=ut WHRETH HME Hoa=2(20~21) 17M17]0]l & Lizt= Ho|Ug Zo|ct

4, 5 L2} AO]2] A7} LIHK|XH MU 27HE X|&shs 20| LiACHs S=at HIZZES oo M BE & 4 AT

| =26y | ZIX} HIE X837
Dutch2t 22 gz SUUSE X231, =Y ZXt Deutschland2t 22 =2 o|n|sict J2{Lt 2LEE9| Ho{ol|M
Dutch— 2351 sHet7tol Un SUTt (ol Ato|ofl U2 Holland2to= 4%l LI2tol HEH2tE EAlo| AlEnt 271
£2 7f2lZIck
DutchE LS xetol=s B0 ®S40| B0| ACt IRE tHEE0| 2FAQI o0|E =L} olE £01, going Dutch= 2
X7t XpAle| R XIEStth= 2JOjo|ch Dutch courage= && Ot A M71 7kt 7|5 2|o|gtct Dutch uncle2 2
SHA|E @t= ST E §liF= ARZO|CE Dutch concerts 14 A20t 7158t 8 29t0| opl Zio|ct, Dutch defense= H|
E U= ARS0| S MEE R EX| RoME 22 120X HE M2 2T QUXCt =S o|o|ict
0|H TSN B2 AIHE2 U= AIZES0| ZMo|1 QIMSICH= Zig LAISICE TJ2{Lt MAke] LIHX| AFHE2
HZ2t=et HIZ2IE AIRES OlF Ch2A| 2.t tHEE0| ARS0| HIZERES MZtst uf 7oist E8 & =2 Xt 12
LIgtAIE A2 oto|S1t 22 £4 1 2TARI A2 AMSITE JECHH J=RIS2 off UIZzt=o]| chsh 221 Atz Zsh
£ 27 =UETN?
17A1I7I O|Xof| W= AlRE2 F=o| 2t Aol ES=UCt TJ2iLt $ LIzt Sel=ofl 2Als 247 =S o O
2 M2 Ho| £t JE2 SOIE2 Jt= S=et IR0M LAEE 7SS BHES 09.*3}7I /sl A™= Mct U

I ABS T 93 ARISS 1652017 16741 Aol BIChOIA A o] RS RISiCh 166740 WIS AfRISO] chesat
A B3l SIE 20 RIS HA YR SIS U 3 NBES AnBC FBHE MUSEO| A= X2 o2
ol Al7| SQtolgith. @5 = Lizt Afolo] 2= 0FF EE0|xI2r At BETSS k2 Hokct,

| 28y | 123 Yet the rest of the world views Holland and the Dutch people much differently.: the rest/most/half of
Flofl B AL 2 Hh SAE A5t E4 AL QE S SAE ALE510d, At 20l SAE LXIAIZIC

22 It was during this time that the unfair war of words began.: during this time0| ‘It was ~ that’ Z=72
oz = ZZo|ct

| Vocabulary | 1.surrender 2. implied 3. false 4. route 5. contrary 6. outraged 7. unfair

| ParrotTalk | 1. Because they competed to control sea routes

2. Because the Dutch blocked off the Thames River and could not travel to London



READING 05 Flowers Losing Their Scents

|  Words | b 2.c¢ 3.d 4a 5h 6f 7.9 8.e
[ EdZg | 1.b 2.c 3. bond, destroys 4. c
| StoryMap | Mb @a @c
| Sxsia | 1. 7| 2E2| B7I2 2lal £ &717t oM=L He| 0|SsHK| =l Hat Lid|7} HAE 2ot 22 37|17} o &S XCH= W
&9| 20|Ct,
2. 20 H|SokXIH doing business= Hit LHHIE RQlok= 20|11 advertising2 87|18 LiE= Zdo|ct.
3. &7 EXtE0| &0 22 2 St Agleln, O A2 5t HEE Yoy HAME minAZIcK8~108)=s AE &+
QUL

4. As a result, the diversity of plants on Earth would greatly decrease ~(22&8)0lM EE &2 4 ULt

| 2= | g Y= =

‘IS IR 1 AIHE Sk A2 OiE £0IM AUl B3E ste Ank 2ot FA2 G0 RAS ot U=K| &
X2k CHE AfZf2 OlR= ZECL” 0] REst U822 ol MAMZ ME== 20| otlzl, 25 29| A= XEE
Ot 22 it I—Hilé FeIat7| fle &7|22 HAIE OlZsH XHAle| EXHE W2 XS0l “&usfoF Bih 2Lt 20| th7|
&9 B7tets 2 4| W20l MAM3| &7|S 2401 7tz ACE

Virginia thafwo| MefXiE2 ZlZoi| 22| &f7| ZXS0| 0fEAH 37| £0iM 0ISsH=XIE B0 F= 22 TS0 W
Ch OS2 £0| BHS0] U= 87| EX150| 20 22 2 S2ut Zeleitt= AS UHCh O Ze2 3fst g2 4o
7|1 HANS mhajshAM 2o| &f7|7t o ol oFXZ Ha| 0|SstK| Retrh. 21 “dAl Xi='0] gl Hit 22 ZI7H2 iy

o

RS2 2olS SUsH RS BS H2 4 ¢ick
2001 Fofl= t7| 20| B of HUCk HSRSS 1 A0 2 8717+ A2 1.2000[E{7HX] 2| 0I5 4+ YD
Blech o5d B I i 1 f2le] 4] 19t OISBICE, 021 01 W20 Hit T2 BIIR uiRiSS 22 & 9
siAl Of B 72|12 Aofchiol 511 22 22 AIZtE ARGsfof Bict
Ho| BEF RS wAY
ofzt Mol Bt BES

= NZelol ZBS MBI RE HojA 12
=, o
= HA
2 WeR 5= Bt ABSS a9
o=

Zo|ct. A|Ck7E RIFE mEa|7| ffa &

A HAR = @IS Z0|Ch O At XFdol AZ9| Crd2 I dad 2o,

| 28y | 18 You know what you are doing, but nobody else does.: does= knows what you are doing2 2= CHEAO]
ch

8% the molecules of scent that flowers produce bond with pollutants like ozone.: that flowers produce=
the molecules of scentE AlstH 2% TA|Q| SAk= bondO|Ct,

228 As a result, the diversity of plants on Earth would greatly decrease as would humanity’'s food
resources.: as7t BHAIE MU I asHOM= 25| SAE F01 ol ECt as humanity’'s food resources
would greatly decrease0| Al B2 &= greatly decreaseZE M2kstT F0{QF ZEAF =X|E F120]Ct

| Vocabulary | 1.scent 2. generated 3.demonstrated 4. readily 5. reproduce 6. what's more 7. gradually

| ParrotTalk | 1. They attract bees through their scent.

2. Because there is a lot of air pollution that destroys the flowers’ scent



READING 06 The Origins of Golf Terms

|  Words | .¢c 2.b 3.a 4e 5d 6g 7f 8. i 9. h
|  E2dEg | 1.b  2.d 3.Birdie 4. a
| 2dEHy | 1. & B Sl LRI7IS0| A2 SOV XIRSHM 2ih7 |2 SHOIE MM 7Hol E=2 AU Recte ok
2. B7)= 7|& EfECH1EF O 20| &l HE Qln|(21&)st=2 d7t FEolch
3. 7I& EfeECHE O &7 2 A2 HO|(178)oct
4, 3QCImRl YHIER2 A= 2ACIIQl 0|20t O & 2 A0|2E, a7t 29| L83 UR|sHX| Y=Lt
[ =228y | =Z 20{9| 7]
= AZX0l= 1 S=E| EHEE 807t U= WA Hol=0|, B2 0of2l= OotL|ct 2| ELE AIFHH
A2 =7=X| HClet 27| 22 8015 S0 EUCL J2iLt B2 AIRS0| 22| RejfLt =S8t 22 2012 RUE
S0t BZLO| HAR} 2I0{E HiRH 2XE O

A olsiet 4= RACk
ZEE= 22iTof| AFSHEOIM AREAC | &2 X|7l= Aol 50| 2 mf AUh7|E ToIS1 SHUOIE MM
| A

K5I 2550 o
£7) 20| ZoIZUCL SWoI7t 7Y 202 S0717| Mo M4vt SUOIS B A4S MM 1 AIYS of SFEHFCE of

A 27| SZAHIF ERAD SWol= SZSo= LHIACE J2iLE O Alge] Y2 S| £t Mt 3= 20
2= ol A2&= BTt Mo Me4E O Mz O8F I 7[£0] Foj ook
S0 7HE 325 7152 Feksh 32 MM B A2Z|2 Hill= Ao|ch SZ AN Zk2te] Eoll= 7IE Bt F
OjZIct. 7|&E Et= 30| 20l S01717| Tofl SW7t SS AMof Sh= A2 ofld=l= 20|t "ATmy= o AR0] oild
& 24Er 32 o &7 Mohe A2 Qjojsich
CHE 2 80l ATSUES| AIZ0IM AIFEIASKIE 2ZELL 6§ S0, 30| SE2Z HoPts" YAIR B35 o
EF2| Mofl H|FECh 7I1F Et-ECt 1ER7F M2 A2 BRI §ic) (B =2k M) 0122 7IE EfErt 28t X2 A
0|31, YHIEZAE J|E ERECt 3EF X2 Z0|Ct YHIEZAE XHMAME SZ0IME OFF S|7(5iCt. 72| CHE oftH

MECHE o E2| Zofz 4 = Aoz UHE YHIEZAE BE ZMSO0| X|7|E Hi2h= 0|k

HI|= W7t 7|1E ElEO EF O BO| Xl= AE 2nfsitt, ‘2r[2k= o0l IS0l RHeH FiS ololsict,
SM7H 27|15 HACKD o Afo| e mf IN2 O7t SIS HF SHI0| MM Ao 28 AN A= AS
olo|t

| PR | 888 the stone evolved into a golf ball: into= ‘#ste| Zub'E o|o|$tct.

113 The most important skill in golf is to hit the ball a great distance with accuracy.: with accuracy=
accurately?t Z& £20ICt ex. with great skill = very skillfully, with ease = easily

198 an albatross is what every golfer hopes to hit.: ‘what = the thing(s) that'2t 20| what2 MAIE Z&sh=
HAHHAIZ FAPEE 0120, ‘the thing(s) that' 22 HIH0| & 2 Lt

| Vocabulary | 1.accuracy 2.origins 3.rare 4. skilled 5. further 6. eventually 7. evolved

| ParrotTalk | 1. It means one stroke under par. 2. They named the number of strokes after birds.



READING 07 The Deep Sea Anglerfish

|  Words | .d 2.a 3.b 4c 5g 6f 7.e 8.h
| 2dme | 1l.c  2.c 3 Aol 220 & Z0| =l0of 7|t 4. a
| =dEiE | 1. OFH, 53| = oF7H AfsHoil M ofE A Hok7h=Xlofl thal 7 &3t = 20l
2. Using this special fin, the anglerfish “fishes.” This is why it is called the “anglerfish."(3&4)ollAl c7t B &
= Uk
3. AAR B 20| 27F5E A O E A0 HEl20 YAERE JUYRES 20 (s BiHlircks AS & 4 ATk

4, Ch Xk #2342 230l 7|45t 47| 2ol WA 20l= X|=2{0|7t g2 Aok

| E=siy st ot
Ot 7|7} OHE S117|5 ®otH=rt=s A2 o[0] € UAS HIX|ZH XAREe| HAHE JHK|n A= 21717} th=
AS L0 AUSTI? UMt HF612 #2 KoM LH=l= offl= EalME 2ol= HA 29| 21 X|=2{0|7} U
Ch ot= 0] E48t X|=2{0|5 AtE3liA "HAIS BiCh’ 0| 0IROIIM 2 E17|= "HAIZ S17|(0f+) 2t S2Ict
offl= #H &tZoll A0 S0i7t shxoll =A= I A=Lt OFFel & & ChE 2117(|S0| HokxiZl= RYst #22 1 X
Laqo|ct. ot 2l 2 ol X|=2{0|E 2 UCt OHE E17|7F O X|=20|E £ of J20| E|2tT d2fsict of

52 Bl o SpololAl H2IE A ol 2 BiE A
OFH= SAIRAIS 2462 S2IXIB Flch Zo|7t 12MIE|D|Ef0 ZE HES STt OFFO] A2 ZHAo|LE T2 &M Ei
ZoMel 4 9ick OFFE 13t Al i 121 B2 &3 XD Ut 20| S27] W20 0f7H= ICH R £ BNO

SIS = + gloh tidlofl offlE A2 &2 A7 SEI0M 2 £0M 0ISEICh

2 Offl= HAWEL O AT AHS| CHE AWM HOICh +R2 22 £7f2F 37]0|1 MZ0| Ao}, 4740] Ot Xf2hH &
st 7|2 AS|ofM AAZ HE 0| 2TFSSHEIC,. +H2 s Holof stH, 2FX| o™ 70| F=Ch. Z212|XF
421 A2 YAUS ST TS0] 7hA AHO| @] mFet tAio| IS URS Falist

Ol AHS 0| akct. 4+
Bitt. & 2M7I= 87| AOIN BHLIH EICh BBER BIAITA SiLte] 7|Zt0] Eic,
[740] SoZHE| YYRS HOD| JMSBH AN OMS HHCE 23 OFHE SAl0) oA Dl2le] 2342
=

[=R oo = — =
SO0l &1 Che o= UCh 242 oF §F Of2|7t Xl Zoff E3 Cills A oF 250l HO|E F= 2AS Tk

[ 78 When another fish sees the fin, it thinks it is a worm.: 22| it2 another fishg 7t2|7|11, F2| it the fin
2 7t2lzict,

158 his digestive system weakens, making it impossible for him to feed on his own.: SAt2| 2X0{7t toFH
ALO|7L} thatEY m SX0| Xi2|ofl 7t5X0] itS A1 =M= SHZAL0 Foll ECt

| Vocabulary | 1. maximum 2. nourishment 3. mature 4. starve 5.weaken 6. swallow 7. surroundings

| ParrotTalk | 1. It's a fin that looks like a fishing rod with a worm. 2. They end up getting eaten by the anglerfish.



READING 08 Yves Saint Laurent

|  Words | .¢c 2.b 3.a 4d 5e 6h 7f 8.g

| Edzg | .b 2.a 3.d

| StoryMap | (M) models (2 equals  (3) fashion

| ExEiy | 1. Pantsuits made them(= women) look and feel equal.(Q&t)oIM EE 22 4= QLY.

2. Hi2 2 2&9| women’s confidence and power in the working worldoliAl feminism2| 2|o0|E F=2&t 4 Ut
3. mjMA0| S 2Dt OFAJOIRIE X[EZ JISBHI5~7R)22M T52| 0|0|XIS tHHEXRI o2 S3tAA CHE S o
oh WiQIS 9| Ef=5 HFPRACH

2= 28 i Cixto|H4S0] iRl RS BHS0] LWZIS 7IthskX], At2lol Stish HMatE JIM27|E 7Itistxl= ¢
=Ch a2t 0|2 Y 222 Hiz O US 3k

ZEtAo| 1 RHSH M CIXI0|H= 2008'0] =7| Zof| 40 0|4 THMUAIE XIuHFICE 17t SO = RSt A &
8}Lth HEX|2F 10| Ol22]= ZELL MR TME M2 Q’g(pantsmt)olmtf A 222 196601 pantsuitE A4

dl, 2o &0t o=l +H2 Hdso| M2 U et ¢S sl AU HRtSn SSE At

Ak a2t S22 AHES 0{0fF =6, ILZd% IL%% (EXHS) EAIZICE pantsuit= 1

f) SO 20| Ly|=5 TS Bt 030] LRR0| O R YU tiEl= o 2 EEe=z SAUCL
fLzt =2 MOEUT oM LRE LS SO0{of ROk M 229 CiXfel2 =g MAIM Hds2

f& S57i0h pantsuit= ‘TH0| HO|US(E0 SEF)ol = A(M=)0l2tn =2 ATt

SOl et #elSo| B=S HHP0| == o YAIUCE J= a0l S0 ZHS e

.n‘l%‘%P --I o At & “40|°*Ef HH°|0| of! Af2hSel o[o|X|S oS E X izl
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| T2y | 23% These mass-produced clothes were much less expensive, which allowed ordinary women to dress
fashionably.: ZAICHHAL which= BAIE XIEE #2t ofL|2t of L2 & THIE 7i2|Z 4= Tk

27& Although his main aim was creating beauty, Yves Saint Laurent also helped create major social
changes ~: was creating0| 2xHTAFH 2= MOl 20| OfL|2t creating beauty= E0{9| etz Mol SHAO

ch
| Vocabulary | 1. dominated 2. put 3. consisted of 4. main 5. employing 6. normally 7. promote
| ParrotTalk | 1. He is a fashion designer who created the pantsuit.

2. Because it helped women to be equal to men in the workplace



READING 09 Air Conditioning

|  Words | 1.c 2.h 3.a 4e 5d 6.f 7.9 8.b
| E2EdEg | 1.b  2.c 3.b 4 bc
| =H6EiE | 1. ollo1Zd ALEnt HIZke] AEEtA0l CHell 7|&6t 20|k QU2 M2 RXIE @l Z=22IE HANF|=H ooi7iez 25

=

LS RXlstH ZZ22|1E HAAZH 7I2I7} HOX|7| =0 Aol & 4~ UCtLL HHSIL T

2. In the thermoneutral zone, there is no need for the body to control its temperature.(8&)0ilAf Q17to| 7
HOSICI T L7)l= 18 ~24E 0| 2E(REF A= M2 olsty| ik Z22IE AHIE EeTt gictn dHstn U
ch

3. SST ARZ0| O g7 S0l =A|XIH, o] B7IE A5|7| fla ollofziE At 7 =T S=0| &A HASHK| 2ot 2=
0| U=t E2Ho| X|Yo= TMB=|o| ZuMoz O 0| M7 == AUzmetol et 2Fo|ch

4. By keeping away from the air conditioner, Charlie can burn tens of thousands of calories every year.(21
)SE OmX|2 2E7K2| 8oz ot oo AlBS &Y #8 O U2 I0| HAsty, A20| ZEEIC= HE & +
QlCt
AN .

| =28 | W R AJAE

St{=20|Ct, 252 MM 30=0|ct. Chubby Charlie(EEsH &2l)= ClQlet et L7Ict O= S5ot EXto|7] of
20| 25 AlZ0| Lyl= A=t 2 o H2IE Efch J2iM a7t 7H HA she 20| 2AUT? 2M, 2= EHs| oo
2 =7 =t

Alabamati & Ff MIE(Q| X2 -TLE harlle7} o ofloj7i= % HEIHZf A= B2 SSHE 7ksHo| 9vu=|
AIAIBACH ARISE of=t
st= ZAS Ottt o|A2 SRS A| ‘% H ELT'_ °*E1X1 QT f. aé!EHOllklz 22| 50| M2 x1|01°* ‘1'87f
QiCt 2|9 22 20| 2SS M=t Z7LE =2 o2t Hotst 2202 E|S0t7| st YSHot ZHES| UshA|, 22
o Z0| L2 E7ALt R F2 W02t R2l= 52 HSH 671 HEH % HASICE O222, 22| ofofZig Eo=
M AtO| M QU= AX|E 2E2Ct

Chubby Charlie2t 20| EX|7t 2 AIHES EE AIFIEED FI|E 4 & Lyl= 40| ot 1 olfe XS0 &
Rt 22 IS o0 52 wEtal/ 5t7| E0ICh I127| HE0 SS8t AIE2 dEEo R oo o To| 0|88t
Ch O|A2 Ao R 0|0fE 4 UCL SETt AIRES S0| O EHYX|7| &lct 252 =& Als|7| 28k olofzis Xt &
= 220t 227 =/H, 252 52 S HANF|X| =Lt 1 at=5t FZfo| JM o B2 X|gfo=z MetE 4 Qlot

Chubby CharlieE 2Ist ZHetst sizaH0| ULk o|0fZAS HARE SX| Yotz of|of4E HalsHH Charlies oiE &
2 GS ES 4 UL AICHL H20| =2 AFRIES AlR0| 2alot $t04S0]| CharlieZt olloi7ig EX| e4=CtH, = ot
Of= O MA| HE Ao|ch. 27| W2 12| g0 o M2 FES X6t/ ECt. 2= oM KE 0jojZd CHo|ES
s EXH
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| TR | 584 Charlie may unknowingly be making himself fatter every time he turns on the air conditioner.: every
time2 S + V Fele| Ho| Foil fIX[oto] ‘~& mloictat= olole] F&At FEts Stk whenever2 HHLO £ 4~ QUCE

| Vocabulary | 1.ordinary 2. chubby 3.tendsto 4.excess b5.layer 6. appetite 7. solution

| ParrotTalk | 1. Our bodies burn calories to keep the bodies comfortable.

2. Layers of fat on their body act like blankets and warm them up, so they use air conditioner more.



READING 10 Lactose Intolerance

|  Words | .¢c 2.a 3d 4b 5e 6h 7f 8.g

| 2HEE | 1. b 2. ¢C 3.d 4. d

| =5 | 1. lactose intolerance= R (lactose)g EaliAl7|l= F 23l R4(lactase)’t £&517| W20 M7|= ZHolct,
2. RE2 fY 2l 2200 2ls 2aiEckii~128)n o= It FHo|ch,
3. 570N D22 SHOZ AZE(X| LUTH
4 FMES HE M FKAB0| M S0 JUX| 42 SAT} &7 HoaK18~208H) 1 =15t UL,

|  E28y | [EELS

Susan2 O 47} gRACh J42t 19| FIFS2 XIZE A2 LE= FAS 27| AIRRCE T3 o 252 RI=H
7S Y1 UIM0|2 S Nt JE0| ME2 AMF EAXIRE 20 LX7| Susang| HHOIA A2|7F LE7| AIZZHCE T
HF | A
O

S b7} OIbA SHIAIZR S5l aiIRiN WHE AlsPll FIUCH U WS uRch J4s ARSI MAS soe 2t
CH= Z00f OF 40| LpA OfLt 22 SHES SIU=XI0) tsh FOIS 7I2010F Sicts 24 2415| Um AUSICH Susan
2 RUYEUS0| J0iH KHZS U 20| HoB BA| 0FF 4 ct

RYEUBE LDt RGO B34 A I2 €1 AL & HCiE AF opleick o NS Sz

A= Susani #-E4TH HO| CIE AlRSOIAI=E =
NS0l A A=
<2[9] Mrl= RES O Heth e oz FallA|7|7] el HEfom2le E2l= FAS ARZelitt. UH |E0| Zai
o]
=l aT

| a2 ASIAZ|7|7F H AFof| E2 o 4X[o] Ech J2iLt Susandt Z2 MEES O50| YFSke RES 25
ZollAlZ BHE S8t ZEOIHIE ZHXIT AX| Q4T w2t |AIF0| Bo| S0 U= AIES HIL th2F 30201 A 2A1ZH0] X|
LT i 7} Of7 | I ASHD Z0f| Z7tAZE XA 17 HE O AX|Z A= AXE BE LS Hden iz OS2 RAES

LT B20| HE mf HALS SH7I7EX| St
JECHH 02 ENIE 1 Al= AfEo| o8| oFs| TS AMS & = USTI? 07| = 7HX| Z210] UCE 0f0|A
0| AX| = MERX| Z0| FHZ0| Hs| S0 UX|

JEMY RHIF0| SFet AES Hoa{n SirtH Me{ELf, X|=Jt

62 AS &7 Hojzt o|R2 ASIE 5= Hl =22 FOAM MAl= o B2 HEOMKIE THE H AlZIS 27 2 Ao
Ch st H232|9 3 MEXME |RAE2 X2 Z&0| SEet AlZS %o| Hojzt
| P28y | 18 Susan couldn't help it.: helpZt avoid2| 2|0|2 AEERUL, it2 REEQ| LIES L= XIAICHEAO|C,

~
0%

She had been so excited to go to lunch with her friends that she totally forgot to watch ~: ‘4 ~3HiA
+-BICFe| 558 Zh= 'so ~ that - 20| AFSEIUCH

that she totally forgot to watch how much dairy she atel: ‘forget + to28AlE (¥22) sHof & U2 At

9| onjo|H, ‘forget + SHAS| F2= ‘(Wrol]) B Lo|Lt LOGE LS ACF'Z siiAlg 4~ Uk

a1l
o2

| Vocabulary | 1. embarrassed 2. Dairy 3. bloated 4.tips 5.raced 6. help 7. unfortunately

| ParrotTalk | 1. It means your body can't easily digest a special sugar called lactose.

2. It is found in almost all dairy products.
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READING 11 Impressionism

|  Words | .c 2.b 3.d 4a 5h 6.e 7.g 8f

| =2d3g | .b 2.b 3.d

| StoryMap | (1) traditional (2) specific ~ (3)beauty  (4) different  (5) times

|  2H6EHd | 1. 9849| the Impressionists discovered the beauty of everyday life2t 128§2| Impressionists took an interest in
the daily lives of ordinary peoplediA b7t Efels & & Aot

2. ¥t E7hS2 ol EtEnt FHVE M o2 ™S IT Mol thet JHEol Ts| FRTHe™)= Aol
revolutionaryZ} ‘25| AKED CHE'0[2t= SIS 28 4= ot
w t

3. they painted the objects by relying on “how” they saw them in that place and at that time.(2324)0fl A Q1a$m}

SI7}S0| &7t501 Q1AM =EE UFAUCI= HE & 4~ Q)Ct

ey i, i} LoE KT M

| 2y | olyzo|
oIyZol= 19M7] Zofl ASHE O 2S0ICE TH GlEAlOIN 71 KBS 25 B SHINCE HAI0] ozl 20|
gt BiCiatE Hoj= Monet, Manet, 1211 Renoiret 222 S35t Q1A 3715 0] thah S0f S 20lm, 159/ ¥
o AZES HYS o[,
oINT} SIS FRIo| Mefnt MRhol AHBO| QUOIA OFF MITHSTH AT, Q14T BHS0| YAMEO| OfSCIZS
24517| ol CliRO] S7HS2 B, A NS T2IT AN 0[0p7|9 22 HEHR! FR0 LSHCL

JaLt QM SHE2 37|71 Wkt 231t 22te] He|Jt Waletn U= EAlMf Ats 2E AIZS9| Usldeto) 2
AlS JiNLCH OS2 Zoz Hy|of WSt ZHES 2|7 AIZRBICE 0|2 S0, Manet@t Renoirs ZYNA AZS 7|1
QAL EAIE HASE OX HED QY= ARES TJ3C)

O SR8 A2 2amt st7HS0| Mzof chst o JHES HH‘Wtf Zojct, 2

ZESH MZig 7iX|1 QIckn 2IQict oS == $ 1 A= zin %% ZEMo|%dct O
2Lt QAT SIS EXI7F J2{K|= Alztel 2of 2t 227]of rtrar SX|Q| AZo| ’.:;‘°'°*0| SHSHCIT HUCE w2t 1
E2 X9 7Nl Qlatof| =S WRUCE CHA| Lol IE2 I FANA 2 ‘{EA’ EXHE EULL0| =M =

in
I

Monet: ol2it 2laat s B & MBlIRICk I Sittel 828 ° sr 3 0f2f CH2 mho| 22 YRl IYSS I3
o H

of SIEXRl FZ Higoz AI’E.’EI‘Z*AI'_ = GIEAPOHH 71 Q7| A= 25 E sttzh =IACE ofat
= 2le ’llf 2f7|——| 7t 2 32 S2 U2 MES E= W0| ofL2t R27t N2 BE U2 AES eMleh=s E7182
2IHCHE AR Zdo|Tt

| =5l 158 Manet and Renoir painted people enjoying picnics in the park, or just hanging out in urban settings.:
and, or, but?t 22 SYTEAE HEAE 71E22 HESIHD ot= F /2 49| FAlet 20| SYUsHof St

178 More importantly, the Impressionists changed the old conception of color.: importantly= 2% 441 £A}
olct. o] &2 It is more important that the Impressionists changed the old conception of color.2 Hi?

0 & 4= QUch
| Vocabulary | 1. perceive  2.range 3.into 4. traditional 5. urban 6. constantly 7. seemingly
| ParrotTalk | 1. They saw that the color of things changes according to the sunlight.

2. He was trying to describe the different impressions he had on the cathedral at different times of the
day.
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READING 12 The Mayan Numeric System

|  Words | .d 2.a 3b 4c 5g 6e 17f
| E2EdEg | .b 2.d 3. b 4d
| =HEiE | 1. 8fth7|(bar)= 50|12 F(dot)2 10[2tn 3Hem2 2227t 80| Ert,

2. Gtth7|= 50|0 A2 10]2tm ooz atthy| = JHof| & 5HLQl —=7} 110] EC}.

3. 20XI2(0l H 2747k A2H 400|122 602 20X}2|0f 0| 3747t A= AOICt BiCi7 = 50| H2 10|2kn Yeoz 72 o

EH71 210l & 2747 US AoICk 0] RE =S SFATI= R 9 0lch

4 ZWZUE 2| BS= 02 LIEPHCHER) D o8 =2 d7tF 29| &ah LRIGHK| ¢b=Ch

| 2=y | ojoke] 2%t X7

e} loRISS OfEH 28 MASTI? TS0l 27 A= 2| 27+ AR 100] OfLjzt 208 Jl=OR et ofot
aS2 42 M= ol £712t} wlee 8IS ol

Salo] 2t HANME 2Kt 12 2% 0 Holl £ 2x}100] EIck TaiLt 0ok HAGIME Chact 27 1(-)2 2%
O(@) Sofl EOB 20(ep)0] EIck Salol 2 A= 2E 2RI BASHS 10740] 7158 JHxln Utk Djofel 2AIS2
EHX| M JHel 715, 5 10l sHESHs &, 500 siEshs Sltz] 1alm oo sHEshs 2N 2oto] 7SS AREHA RS 2
A OIO-IEI-

ol Al 7He| 7152 ALS3HA DORISE 126 197HX] Ot RXIEHE 2 4 UQIC JUCHH DlOKRISS 2%t 128 OfZH
WS 1SS 247t 52 MEsts £ ol Sithylet 242t 12 NS £ JHol HS MBS oItk IS0| SRKIA
871 127} ict,

ISS 1080t 2 £S5 ofFA EAIRSTI? S210) 4 HAVIME OIS S01, 46012 2XH= 4 Foll 62 Rrt, 45 10
XEZI401A (100] H| MES) 402 LIERACE 2|5 62 1XII4-01A (10] 04 ME) 62 LIENHHTE J2iLt Ofof HAA
= 10xtal chalof 20Xt217} QICt. DORISO] 46012t RALE OfZ7 M=XIS 27| $IaH of2Hel oS Zotat,

] 13 Their numeric system was based on 20, not on 10, as is our own.: as our own system is based on 100]
M BHEEl= based on 100] 2|1 F0{2t beSAIH X8 F20IC) as CIE0ll= F0i2t (R)SAte] EX7t BF
Uof T,

118 They would write two bars, each representing five and two dots, each representing one.: F0{7} FH2|
F0i2} T mi= 2AER| FOIE BAlGH F0{0} Bttt

123 Added up, it amounts to a sum of 12.: If it is added upE BAF-222 13l CkZ beingO| M2FEl HEHOICE 2
AT20IM being2 th7H AM2FEIC,

| Vocabulary | 1.sum 2. numeric 3. represent 4. based 5.ancient 6.dots 7. amounting

| ParrotTalk | 1. They have three symbols — the dot, the bar, and the shell.

2. The Mayan’s numeric system is based on 20, but our system is based on 10.
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READING 13 Keeping Sunflowers in the Dark

|  Words | .d 2.b 3.a 4 c 5. f 6.e 7.h 8.g

| =2d3g | 1.b  2.c 3.3l w2t =Ct / shE &all S=IICt 4. d

| StoryMap | (M always (2 still  (3)developed  (4) tracking

[ 2H6iY | 1. a2k |7F EHLO| US T ENYFS S5tz 0] OtLI2t EfYS BX| RE moll= Efel Wats whatztth= Aah st &
= x

A7t XILIH BN ZE HI2EEX| 4= Aol tish 7I&stn 82 brt 22| ME22 JHe XEsi.

2. gIZi0| U= B2 HIZ o 2 LIS THA| &7 20 2ot A0|22 &e1e] HZAL In other wordsZt ZESICH

3. 22EH01A sHHl2 s Wo| YolE UE T SES ok US G NS e FULS KAIBICHT HstT Uk

=
Bo| Zulz A}Soz SAlolctn Yoo d7t 7k AEsC,

=
CHE 2E0IM sift7[7F 4E KoM= £Z0| Weks HRECHD 3 Ol o =2 F%|0l= Z40] o2t Xt

| 2= | siHi2t7IE oS &0l 71
YHE 7= AFE*OIE}E —'T—-_r'—II CHE=22| AZS0| 7Hsth o W2 HHS 27| 2l Effs Seitte s ¢ UL
0|A2 (@B M)ol2te S2l=tl, siHi2tr|= it el & 22T ofo|ct. ol OFFol siHi2ty|E BHESHH of
B2 7t S22 iﬁfﬂ A= AS Lg Zo|ck | s & = siHEtr [7F MEES efst U= Ao|ch 2Lt st
2t7|of A FLES s = ENRSO| UCHH OIEA| 77 THA| 2isliA, St A SHHR2L7|S &0t 2i85| OlF2 HE &

ofl '20f = o Uo| LoiL7}?

SEVIE sfHlals L0l Ut gzl HUNS KIAE HOICE THS HIS R WY KoM B B B7l0| U= gick
= % S =,

= -
SiTizte wolA QS0| UE G SES Fokn LB of

FSIXFS0| 24A124 7| 2|S0[2t

T Rt 210] Q! oo|ct 24AI7H X7 BlSS BHAo| K|HE WrlRCHs 27|Hol LKE ShRel #E F7olc
sliEtat7 |7} EHES mabt7ls ShAIEt O e ETSHE" 2 OfLICH 0j%e S £of QU= siHtaly |zt £2o| ¥

B2 HIECHS AROIA B3It B sffz717t 0K 20 OfE Sl=S JR|n AAZ WS

HHRX|:= Q4X|2E LS It

SIRIS2 sfialy |7} S4Bt 0] 23 S HZS FISAIH ek MBIk 0] OJ20f olstet ZIsks stz of &
BEOS SIS K= O S8E £2. #US T T S sk} HEY JH5E0l of ck Olfel X1 kel Bl

LEAIE XE ASHez Wes HHE= sl |7t Q= Zo|ch 2Lt sHHtEE7 |7F o2l Al
Ot 2get HAIE XL sfidfety|= Efets mEtr7Ig HEn SET efg #o|ct

oot 731 00| oLt

| =ad | 584 But what if there’s no sun for the sunflower to guide its solar tracking?: for the sunflower= to guide
its solar tracking?| 2|0|4t9| 2047} OFL|2} no sung $=AI5tCt,
98 It will bend, just as it did outside, eastward at sunrise and westward at sunset ~: just as it did
outside= AIIE0|H did= bentE 2= tiEALO|Ct,
218 After a certain stage sunflowers stop following the sun and only face east.: ‘stop + 8HAF'S| H2= of
0 U Y, E= St US BERELONE sHME|H, ‘stop + toRTANS] A= “BIIE 51| ol &7 HELHE sHAEICE
| Vocabulary | 1. organisms  2.closet 3.classic 4. purpose 5. effectively 6.as well 7. facing
| Parrot Talk | 1. It bends eastward at sunrise and westward at sunset even without sunlight.

2. A circadian rhythm is a daily behavior that a plant or animal does naturally.
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READING 14 The Soccer War

|  Words | .¢c 2.b 3.d 4a 5g 6.f 7.e 8.h

| E2EdEg | 1. ¢ 2. ¢ 3.d 4b

|  EHBEid | 1.[c] Y 2E0IM 2 Eo| 2= =T X1HS BACk= Aol =7 F7171 ERCls 01T 20| 2f0F &2 & =+ A1,
O EYolA £ CHE 230l thal Hgstn AU F0iT 2FoIM ZS0| BUA| RUACHE IESZE Hot FOE 2E2

2. 1R 2F2FAT} 07T, 2RIT I} SR AAMHIE2T} O|ZAX|T 2= F B 25 2o STIUCH

3. & Lzt Zte| Z#S0| ojo| £ Tof| FE 2oz AR AUCH20) 1 Flosz HEH2 do|ck.

4. OFXIEE SEOIM 7 FMS TR 100ARZ} SOt XSSO0, 200] Xt % 2H| Ak KEAC] FHEI SofoF K| 2
STk B,
| ey | 57 My

EEHo| &7lohs A2 LiZkS0| F7H XARME B0 F= E2 YYoloh J2iLt £ Lzt Afoje] =+ F7|7F T
Zloh= FA0| EIUH, 72| 40 Fof| UOJHE LS QITHH M2f0] HHEX|= ZECY,
SYotmz|7te] QIEEt F 27101 2FatAet AMHIE 2= 1970 HA|Z =g ST AHAS 27| ol EHHE A7)
I AUCE A Y 7= 2F2A0M ERCEL 2FA WSR2 MY7|SS FEIU XS HEI|H AuHi=E §
HMEE ES XX Rot| Mok SA| X1F dat=2 M52 T2 & 1 022 mHHHRICE
Eo| & i F7|S flofl LEHI=E0] 42 1 OS2 SR B39k FQIS0| Z7IES SMZ AUCH &

HHIZE MHS2 2F2A 7|9 Z7HE 220t HEe 4 AU7| 2o 2FatA B2 30 022 Rk

= =70 E 2ol otX|2 Z7|7F HA =0l BRICE Heist WSS M= o] 57| sl 5H T ZFO| ALt A
HI=E27} Z7IE 0IZiXIT, & B 2F A= 2ed &7 XS Lt 57 F7|= EREX ZE2X|2 252 EL|
Ch Al o] ST &7| 2o 2FatAet AMHIEE2 Ato]2] HohZ2 S7Hiu ‘S5 Mozt LT
2= Op7|RCh J2iLt S771 S5 Tdel FYeh M2 ofL AL

o mjo

0 53 1o

502

rl

ZS2 AHY F Lzt Ao]e] SE ZMIE T E Foi| ARIEIRACE B2 Q17et ofF A2 T2 Hu A= =71 &
HHIE2E 2F2fAT O 2 G O X2 7S A1 UChs AS LUCH BUHIEE= 2FEtA To| USRS Xp7| X0|

Bl FASH| AT 258t AR £ Lals 2 (0] £ Sot =32 Fict
SHSIE £7 271 S Liat Aole] ZVE0| Hmofl LS o H3m, FI7h 1 BB OfSHAIZC FHS 100417
Ol KI4EIX] QRIS A3 Ho| FAD ST FHOIM SHAF U= LOIXISH oft A= HAEIX| ATt S Lzt Aol

o FE B2 20EE O X|t Flofl S| AR KHEA(ICI)7F HURMS whof HZA SHAZRACE

|  P2aHd | 1184 Surrounding the stadium were tanks and soldiers.: ‘SIXHE2AIT + beSAt + 0 HEHZM, ZZS s S
BEARIL 23 Yo = LIRH F0{2t beSAZt EX|EILCH,

128 Unable to concentrate, the Honduran team lost 3-0.: Unable to concentrate= As they were unable to
concentrateE 2ALE2E 1ZI Lk beingS AEF5H HEHOICH

29 The territorial dispute between the two countries was not settled until the International Court of
Justice(ICJ) stepped in more than 20 years later.: ‘not ~ until " 22| |2 *-.-& wh77tx| ~7} oLt o]
X2k -5t LEMOF ~GICH R HHGHE 20| AIAAJLL,

| Vocabulary | 1. official 2. insulted 3. settle 4. qualify 5. participate 6. dispute 7. outbreak

| ParrotTalk | 1. They kept the Salvadoran team awake by making noise. 2. Still, they are not nice to each other.
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READING 15 Gift-Giving Culture

|  Words | .d 2.b 3.a 4c 5h 6.e 7.g 8f
| 2xxEe | 1. ¢ 2.b 3.d 4, c 5.d
|  2xsia | 1. CIE 23t M22 F0S o Role FHoll sl 7|&sta A= S0ICh

2. Then the receiver will reluctantly accept the gift and put it away to be opened later.(158)0 A B2 2HE
32 2 ok

3. ~ the giver will insist F|of= that the recipient (should) accept the gift7} M2t Zioz MES F= ARRIO| &
oA 22 ge AE nEsich= WEo|C

4. H2EolA
R Zd?:!

5. HIZ Ct2 2F0lIM GXE 2L EHO| oXtol|7] MEdt= oIE §1 ULER HIZtoll= relationship(2t7A)o] ZEstct

r—l‘l:
r,fi
my
o
o
A
i
nHﬁ
Q'E
i
i
5
L
B
=
fr
NN
fu
2

ZIcH198) 1 ooz X2= o A= JHel= MEst

A2 Salt Lalo] AE 20f F1, ofl BAIE Satstn, SE}
E o

= o|
— —_
HAE A& SXlote WHolC ME2 22(9] 7|22 HIE 4 UX|T A=5HX| A2 HIAXIE BT +E o=

© 2SHOIMER| M2 77| ofES Tz cmor it

N2 3712 | RSt U REREUME A28 FIE 20t BRE oJA0| 9tk 02 S0f, YoM 20|
OIS S Teio| HHE HEED, UAE ABSIN FDLEC S5 ARIS 27 OfLIXIE! ZAS| DS E EAlStD
ARELIEL'S U2 Fol UE Hr, EE B

M%.*% ST B AESIX|RE FE A2 DS 22t J2{H gh= At

ch
I, oftH Q}EOHHE ARE MES FL2M AlZQ| 712 ol 67| &t M2 F=
Al (M=29)) JdZdE Tafshof sich ol S0, HE2iEolM Zo|Lt XIS JiSske Ze MSstH 27 HEE 4¥st
= ACE OAZX|= 22E0|, a2 M29| o/=& HAIX|= ofLct
MEE F= M%*Ef 2= AO| 27| S o SR ME0| HEAX|IS ZHelTh oIS S0, 0l=0M 4 22 M=
fO| Ofxtol|A| & 4= UCE offH TV} O MES ECHH 2EISE FL0HZ sHMEX|= ZECt
MES F= 28h= AElottt CEX|2 OR2 25 o 71X 4Zis SS2= AT AUCt o= L2t MEX| MES ME
=2 oAt oh= HAIXIS 112, Bh= ARZolA| ZIESHX| ofX|of cHsh AzfsHoF StCt. M=0] &t

=
= AlEfe| 23t 13stn ESeiths AS 20 FH e A2 I MES g0 of JAS| 6Z Holc

-

rlo
ot
Ral
A
4
r
ot
I’_..'.
rl:l

n

[ 28y | 258 The culture of gift-giving differs from one society to another, but they all have an idea in common:
they= “AtzloiCt CHE M2 F7| 23S <n|gih
288 Your gift will be much more appreciated if it shows consideration ~: H|ZZ9| oJ0|E Z=5}t7| 25H
much, far, a lot, even, stillzt 22 H{E Hlw= A0l ARSI very= Hlwgat 874 £ 4 Qi

| Vocabulary | 1.integral 2. modest 3. offended 4. appropriate 5. convey 6. interpret 7. emphasis

| ParrotTalk | 1. The receiver is expected to refuse the gift a few times.

2. She will put it away somewhere without opening it.
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READING 16 A Miraculous Frog

|  Words | b 2.c 3d 4a 5h 6e 7f 8.g

| E2d3g | 1.d 2.c 3.b 4 survive (the) freezing

| StoryMap | (1) freezing (2 inside (@) human  (4)cells

(I = 1. & W 2E0M So how is it possible for the wood frog to survive the freezing?(7&)olztz 21 1 g B¢t

OllM Z120i| CHEt &S HMIAlstaL QUCH

2. ~ although the water between the cells in the frog's body becomes frozen, the water inside the cell
does not freeze.(9#)0l A special cell structureE EHo= &g 4 Lt

3. 371 O|M2 ofstut 2210] Y002 b7t HEOICH,

4. a similar principle Ht2 2 2&2| the wood frog's secretg Y1, £ 0|H2 HIZ & Bto| £IH712|7F LAt
=}

7t CHA BlEE 4 U= SHS LET

| ==y | =22 772l

HWTEl= 2l AES X 2 XM HE At X|Ho) 0|dE SHol2tk:
7Lt HX| §4X|2E 2ot QACt,

20joll A= Bt ROl JiEl= ol =58 SH HHE Zu A=0l, A2 o= oo F0l2| FoiTal= Otk 20|
HZo= HIUCIZF ChA| 20| EIR0| 2 WX 20|X|2 =0 HOIHT) tHRE2e SES2 Setel 2=0M F2 MZS
0| mal=|7| tiEoll ¥ =F=Ct JFCHH SIH+2|7F YSoA &otd= 20| o8 7HsE7t?

HIZ2 7722 & 2tofl /U= M Ato[2] 22 LRI M| 2o E22 EX| =Ch= AMMoi| RACH 71°0| 27| ’.‘_1
HTEl=E & Qtofl BratES MERICL 7|20] HojE o o] BrslE2 MZ 2fs Mifs 28 T4 2
HAICh T2 SEOF 2 o W2 WS JHX|1 QArt o AR 20l SIiT2le] 5 MES2 €X| §4n, O Zit =
JHT2|7F O 2 7120 M HOolEE 4 Urh

Olx| HFES=2 £7i72(2l HIZE Qlsl2 ZIEA7|= o] HE517IE Hi2t QAT 3 Y2 HIXEh 327} 0[S £15
QIZto] V1S EZsh= ol MEE 4+~ AS7t oh= HOICh & HAIM 7ISXIe] F7I= OFF W2 2E=01M Est x| &
off 2RECE J2{L O F7IS2 ZalH g7] £ MZS0| £7| =0l Ha| ArS&|0ofof Bttt SIARS0] SH S| =i+
2IE 235l F= £Z2 H2E (0] MEAZ|= EE HiE & UACHH H7|E O 23St BES - US ZdOIEf |

ALE =

=
=|H OJALS0| F7| 0[AlE 7ICiEl= ARE SolM &0 7HE HMgfet AtEfs &= ol o B2 Alzt

ol
il
Offt

H

o
ol
i

Sehl| S=52 20|

52
tH>

| T2 | 138 the body cells of the wood frog do not freeze, which in turn allows it to survive icy temperatures:
whiche & 28 THIE MAAIZ Eh= BACHEA|CE

178 a similar principle can be applied to preserving human organs for transplants.: to7t TXIALZ A0 SA
£ SH0E F W= to -ing’e| HEHZ AISEICH

| Vocabulary | 1.cells 2.freezes 3. applied 4. hibernation 5.donor 6.organ 7.inturn

| ParrotTalk | 1. It turns into glucose.

2. People want to find out if they can preserve human cells through freezing for transplant.
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READING 17 The Great Gatsby

|  Words | .c 2.b 3.d 4a b5.f 6.h 7.9 8.e
| E2d¥g | b 2.d 3.d 4a
| 2d8Eiy | 1. Although it seems Gatsby has everything a person could ever want, Nick discovers Gatsby is dissatisfied

~(148)oll M Jay Gatsby7t 2Xt0[XITH H=5HX| pf2S & 4= AUCH

2. take the blame forz ‘~0il chsl XMUS X|ct= S20|1, the accidents the car accidentE 7f2|ZIct £&t
abandoning her to her fates ‘47 Afzoj| EH?_ HMAS XA L F= A'S QolstEE Atnof| st s
Daisy7} ot Gatsby AHtI0| FCh= d7t FEoOICH

3. CH2 27HS0| a5 ZZ0|A 0|=019] Jix|ge] ZIgst ojojof Sl22 EXI7| AlZfeh Z(258)0]X| (RIcHEr JH=H])eh= A
Ho| 28X JIX|E oulgt A2 OfLCh,

4. “the American Dream” of being wealthy was not enough to make someone truly happy.(24&)oflAf
American DreamO| =272 23| BHS0IF7 (0| ES235ICI0 DR a2 Hoz 22 4 Qlr}

| 22y | 2lchst 7H=H]
1920CH2| FH= AICH'E HHZSZE 5t AM (QICHE JH=H)= B2 MRS 2E AITHE S50 7+ 2lcist 0= =
M & oiLtE 67A4ZICE F. Scott Fitzgerald7h £ (Ithst Zi=H[)7t 19| 71 285t ME20= AMS FXHE2| 3ot 4
oil ciet =56t S&=S 2o &Ch= Hl= 72| 0/7d0] Qich
0| AHT 22 0|58 71Xl FRUIB2 AFYE H2lotn AIZS0| A0l S5ICtn Mzsk= 2E g
Gatshbyzt= 01£2| £xto|ct S&2I=2l Nick Carraway”t Gatsby2| 7cist Me Z& Fofl Ml S0 AHA AMO| LY
2l0|EE ZH=Ct Gatshy= AOHEI 212121 DaisyS BOISO0I7IE 7[tHalHA OiF ARX|AZIR DIEIS FZE[SEK|TE CHAl
ol A2 255t H20|50| WEsHA TS stHA AjZtS L,
Gatsby7} Af2t0| 2& 4= = BE 22 717 ZXH HO|X|2E Nick2 Gatsby7t CHESHK| 2ot 12| TAo| 110l
Daisy?t MZet5t7|2tS RSt AMME ehzisict TJ2{Lt Daisys ZES 37| =20 Gatsby— NickolAl 252 &
g2 zotgetn 257Ict Nicke| =222 Daisy?t Gatsby= OHEILH BHLEA| =17, IS CHA| 8 H Z™¥Eo= HAS
287{| EIC}. Daisy?t Gatsby2| XAtE SCH7t 25| 8t GIALE & W7IXl= 2ZE 20| &XZRICt Gatsbys IHE 2o
Z7|7|2CH= O Afnof chgh MRlS TICh HiFAMe2, F2 ofXte| HH0| GatsbyE AslsiCt 2= 19| otSChz mE|of

I'Il

TMRIE AIZES B OfRE 19| EaflAlol| FAg B 07| 2alS 2K Y=L
F. Scott Fitzgeralde| A2 ZHIZ QI7|E HX|= RIK|CL, EXJt ECh= ofm|2[2h E2/'0] Al2tg ZHoZ st
Al 2HS0] 710l E5EsIChs AS MMEUE 0|22 =XED 27ES0] sl eS| == IS Wil =I/UACL CHE ZVHS
S O] FHIE TIXIstA 23, a=0| AF0ME 0j=12| ZEx|2te] ZIFEt ojojol 2l2S BX|7| AIRRACE
| =28y | 8% a man who has everything in life that people think is important — except love.: people think= &fe&o0|

O, BAEARC| M3AL= everythingO|Ch

183 Everything is fine until Daisy accidentally runs over a woman while driving Gatsby’s car.: although,
though, while S0| A01 ZAFHOA 017} FEQ| 0|2t 210 beSAIZt MRS AR FT0{2% beSAIE Mzt £

=
| Vocabulary | 1.gossip  2.insights 3. runover 4 narrate 5. reunited 6. accidentally 7. fate
| ParrotTalk | 1. Because he hopes that his lost love might come to the parties

2. He takes the blame for the accident instead of Daisy.
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READING 18 Warren Buffett

|  Words | .a 2.d 3.b 4c 5h 6.e 7.g 8f
| ExEg | 1.b 2. H(Buffet)o| 22l 2XIJ0I= S5t HASH &S Mib= WS ZZs7| s 3.b 4. c
| 2HEsHd | 1. Buffetto| MAIOIM 7H& BXIRl AIZIE & S HO|X|2F At HASH 41 Q22 IZ an extraordinary man
who has lived an ordinary life(H#3t 42 AU H|HSE AFRHZE EHE 2 Tt
O

2. Buffetto] 21T XI5 11 HIMZX| 42
2 & o Jo|AY| W20l olet 2 &

[

RE U= S ZE7|0l= XY 20|X| 2X|2 HMz= MAIM 7H £R8t At

3. Harvard Z&cistelol| iststx| 26t 20| 25|24 20iA O 2 0ISE 7HMCEAL 2 2(238) ‘KF7} otLlzt F='0l2tz
g 4 L

4. Buffett carefully chose important basic stocks and kept them faithfully ~(258)0ilA Buffetto| Ext M2ks &
= ALk

| =22y 2 HA
AlS ZzEo= mHetX| ofztate B0l £50] QUck 0|2 Warren Buffettofl Al H8=l= Zo|ct HIS MA0fA
71 2Rt A2t B 3 HO|X|2 Warren Buffett2 AUstT TS A2 AMCH JE £45t 28 O Z0fstm, 2F7|At
ot HIM A XESXRIE 2= ChAlo] 21 2Msict Buffett AX|0{ XHhlO| SXIOMKE XHAQ| RALS XM Etxflof 7|535H7 |12
ZRIBAC}

Buffett=2 OIS mf S Hals| LM = He=
AZEHIM YL J=
o Buffett=2 M= CHE 570 X|HolM &
gt ol2{st M2toz Buffette 029 232 ¢
= U0l MER 7|31E AU 19| AlHS &

172t0f 435t Buffett2 hstol XIstetr|E 2SHR| 24Tt T2iLt OHHX|2| Z2{2 0SS HHLD Pennsylvania CHst
we| Wharton School@t F0|0{ Nebraska CHstwE CHACE Harvard ZSCista2 27t 42 of2|cta SZ47| 2o
19| X|@S HEIYCL T2iLt Buffetto] Columbia CHetmE CH 7tX| £Xte| ZAIXIR! Benjamin Graham Zoi|lA{

[Il|0

>

TEoict ChUH JHEEE ZUT 7150| 2Ysh=
Alg Mt 7kE0] Washington, D.C.2 O[A} ZA%
0| =2 #|A8 uf Buffette ZZAte| A2
il Buffett2 SXIE ARZISOIA| Ycist| AI’E.*S'J!EL 3
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22 37| (20] 0]242 HE YoICh Graham Buffette] Xt X2toll X|chst RS 0%C Buffette £ 7|
SOl FAIS NS5 NN IHES BUSH ERHM FAS AF HIE AZSEC O 22 £ Bt 0122 1
of Afo] &30/242 0t ofLiz} 19

Xt Asto| ATt

Ir >

SAo Yskn Utk i KKIS| B2 TIsh| Yt
7IR] o=k, 0 At H2te 5t 1

(= 684 Buffett even decided that upon his death, his fortune would be donated to charity.: ‘upon + HA/SHA}
9| YEfl= ‘~otAtOtRFe| oj0|2 A ECE

| Vocabulary | 1. faithfully 2. fortune 3. expand 4.showing 5. rejected 6. charity 7. investment

| ParrotTalk | 1. Hard work is the only way to earn a lot of money.

2. It is to keep basic stocks for a long time rather than continually change them.
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READING 19 Admiral Yi Sun Shin

|  Words | 1.b  2.f 3.9 4a 5c¢c 6e 7.h 8d

| Exgg | 1.c 2.d 3. &1t 2 Afo]Q] Hict of2fiof] ZEME HRel F= Aut 2H HQ| olF &0l 2M Z2ES sHF= A
4. b

| EHBEE 1. Olzd! ol FHCHFOIM X|2/=2l ERg & &&sl0 TS S2|2 012 W82 7Isst /U= 20Ich

2. The Korean navy was no match for the Japanese fleet.(38)0ilA matchs 2% A, &40 on|Z AISEH
ooz 0|2t Z2 Qjn|E M2l A2 do|ch ax= “dd’, b= "E7I, c= ~2t 0j22|Ch= 2jojo|ct,

3. Yi placed a steel wire under the water between the island and the mainland to block the Japanese ships
when they came.(10&)1} 0|0l Lt2= S2H0IM Ol Fol HIY Al&o] FAQUX|of Chet Xpdist HHo| Li2Ct.

4. Since Japanese ships could no longer transport supplies and additional soldiers, the invasion ended.(20

o U 20| o 01y BAZ0IL 571 HHS +58 4 UK LISUIM FES 22 4 Uck

| 2= | ol 2
1697, =42 5HET0] = M2 Lol ofsi HFFUCE. T SEE R0 0 M2 /7IE =2t S22
sfia TEOlAM ofz B miHHRIE Z2i0] AUCE 108 =30l RZMofl= AR 13%2] Zelsfol Hotd 2=
133&2 7IX| UACE =M siZ2 L= Seholl T M-It =|X| =Y
=277 J0i|A| o} 7|ret M2to| MSRACh MYERAE Tl
4nt 2E2t0] 7{2|7} ThX| 3000|E{of E2:SICt oled &
AS Aozt M2t ojEd FH2 U2F0| Holi o= S & elE
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The navy had lost a number of major sea battles.: ‘had + p.p.'"= otH 222N £ AtZ10| 0} A|EE2CH M
X LMHSS LIERS mf ARZSHT,

o~
0%

In one part of the Myeongnyang Strait, the distance between the island and the mainland is only 300
meters.: A|ZH0]| X|Lt HSHX| §h= 22| Z2|Lt AFEE 55 JACS2 Al UX|2 FES X| 21 X AlX|
7h ARZ AL

163 Blocked by the wire, the Japanese ships began to run into one another.: Blocked by the wire= Since
the Japanese ships were blocked by the wireg 2AILE222 1Fl Cha being0| A42HE HEHOICE

ol

| Vocabulary | 1. transports 2. invaded 3. crisis 4. desperate 5.navy 6.lure 7.raninto

| ParrotTalk | 1. The strait was very narrow, only 300 meters between the island and the mainland.

2. He raised the steel wire set in the strait.
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READING 20 The Facebook Phenomenon

|  Words | .d 2.c 3.b 4a 5h 6f 7.e 8.g
| Exgg | 1.d 2.b 3. a 4b
| 2 | 1. HetS0E 0|83 FacebookO| & MAIQ| UBRISE Jiish= 217] A= BAOIETL H 20158 HHst= 20|28,

How Did Facebook Become So Popular?7t 22| M=22 7ha MEs|ct

2. eduZ Elh= O|HY FAE 7HX|1 U= SHEISTH0] 7HUE 4= AU ALO|EAUCHERH)= HollM exclusiveo| S5 FE2&
4 ACH

3. Facebook opened its membership to anyone with an email address. Facebook experienced another
boom in its popularity.(9&)0A OlHY FAE 71X BE ARIS0] 3RO JHUE 4= | 81T £ ot 22 2o
Ach= AEE & 4 L

4. ME(Z2 010|2)S MG TUSHM ZAt EAIZ 2 4= QICH228) 1 oo 2 b7t Facebook?| 7150| ofHS &

=k

| 228 | Facebook 24
FacebookoO|2fx 2%l QIE{SIYo| Y2 Harvard Cistu SE[MO| HO|2 AIRZ|UCE Stul ChSHMS0i|A 2t Mgt
UH Facebook2 O[] M7l ZlcHo| A4 HIEAZ(QIY =) HAIEZL =RACt 02 A IFEW S2S0| M2ZE H
I M 2FE0| Bt HSHe! WHolch
2004101 AlZFEl Facebook2 2zl eduzZ Elt= O|HY FAS JiX|1 = SKESTIO| IS o U= AIO|ECE
IA2 7AcisiX|et £ AIZISE 7IUE 4 U= IO YTt El= Aut ZUuct 012 ©
2 DHE7| Sl 2 AO|Eo| 7HU3iCt. Facebooke| @1717F HX|HA EH4AXOl Mark Zuckerberge #M o 2
£0| 2 AMu|A0] 7telet Aof & Zol2h= ZS MU 2006101 Facebook Ofof| FAT} Q= AHZ0IH =017
Lt 28 XtAS FUCt Facebook2 A =
FacebookS OIEXIE0]A 227 A HEs B2 ERS0| QUCk F 2 2ol L 3 MH| A0 JHJsta AR
O|Lt HICIRE 22[7| AAE 4= QT tHERe] M S|RE2 E5 4+ Hofl H=2o| B2 IFES = WS &2t
S8 MRE M2 AQAA, Sstn, 1Sstn L= sty MRE M2 AAA ZHo| T M7l AZHE0] Facebook?| ZHHE!
E=TSS 0|SalA CHA| G2f= it
Facebook2 st B2 Eifﬂ EYSS Zafotn QArt SHS2 M2o| == Ho|X|of U= EE Ml FiF9|
Wallol 22 2rf. TS alloll 2 SXIMRE HASIALE B APl ‘HIAXIS =2 o UCt. Facebook 3
ot QAR MZE JUiI._ Ch” 2017 pokeE EU=E A2 ‘L= UE d2ista ol 2t
M E72IE JUiI_E A AUBHYO| poke= GAI0| F=27t0| BMS HBICh= NS EO ZCf. 3[@S
JS0| TS B ‘ME'S 2HiCE ‘ME'2 Fhlo| FURE EX|E 2= 2719| A2 0lo|20|ct. S[AE2 0f
Ol0|2E XMZgt 7tz{0f AtM E'—H LA EAIZ 2= T
Facebook?| ETE2 2T AIME AL0|9] H2 BAIS sfElehs ol =22 FE2, 150| X2Xez ofF2| Ha| Hof
X Uct stEEtE TS °|)W\E e

EE 5t B9
o17] 9|
I_ AN

0
1
E
f
:

|[|| I'|0
_l_
l_o [

|ﬂl s

pse =
A Aytol
3

| 28y | 3@ It is a dynamic way for old friends and colleagues to find each other and for new friends to meet.: for
old friends and colleagues= to find each other2| 2|0|4 F0{0|12, for new friends= to meet2| 2|0f& =
ofolct.

278 so no matter how far apart they are geographically, they can communicate closely.: ‘no matter how'=
‘ofF 2| ~2t X2tz 'el on|2 AZ%H *however' 2 CHX[eH £ 4= UL

| Vocabulary | 1.site 2. boom  3.establish 4. virtual b5.track 6. features 7. signing

| ParrotTalk | 1. It was university students who used Facebook at first. 2. They poke others to get their attention.
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READING 21 Pets and Owners

|  Words | .b 2.a 3d 4c 5e 6g 7.h 8f

| Ed¥g | b 2a 3c &b

| StoryMap | Mc  @a, b

| EdEiy | 1. 742t F=010] MZ HE Zof thst &= 7HX| 0|2 AJHEID U222 Do Dogs Resemble Their Owners?7t 22| M=o

2 71E MAEsit,
2. HtZ 2oll Lt their appearances grow similarolAf converge@| 2|0|S £2gt 4= QlCt,

3. =& 0l2(convergence theory)2 712t 10| &7 HLii= AlZt0] LotEE MES O Hot ZHHOE) T FFst Urk

0:
N

4. And since it was the purebreds, not the mixed-breeds that resembled their owners ~(21&)ollA b

LHE1t LRISHK| Bi5S & 4= ULk

| 2= | oS =t FoI

SHEOA LS 71271 ACHHE JHE A7 = AFES RAS| 2T{E0tEL ofote TEstn

FIESH Hol= QebHel ME, ZEE JHet 8l Us ZET MHE, oFF 2 JHet 8 U=
H7h 21 iRt S| U= 2! HE| HASES LA Aolot. G4I0| A 2hEst 2ol 2OokRIER0
i Ze0| ok of 2HX| S5 KA 2 Ho| U=7H?

olziet HE22 Ui SaliM M2lSXE2 202 Hgsi 1 oS M AT o7|ofl= 43 0|21} A& 0|20[2t= F 7HA|
O|20| UCk +~F 0|20 WEH, FUn} 717t of B2 ARIS &7 228 159| 2127t M2 H|XohKl= F=7HK| St
= ZCh OfA| Zoll, 352 3 EEf ol ME 0|22 F2US0] oi=0f XM= &2 JHoll7| olB2[=22 T2 JHE ofi2t
S=E MESICt FEBICL

olzraiol JHet 3l s
S700| 2 15, 220
|, 7ot 7 oIS M=

z|20fl California tHefwo| M2|SIXS2 45012|9] JHE Flnt MZME ARKS MZO=M F 0|2S HIAES|Z 3
Ch O Chg 252 A7 7IAS0IA 7He) ARElaE i =212 S0] Hatn QF3ICt A F7IKE2 =5 JiSolM=
OfF J3H0|UCt. 252 25012] = 160t2|Q] 7 QIS FetotA| Aol aziLt &E WSS 71 Felut JZAI7|= o

= 72| 435K R3YCt. FRIS0| &5 ZOHXIE 1€ Wi I ZOkX|7} LSl oftH % [ 2X &7 o= & et 22
Lt 2E ZOoIXl= oE 77t EIAS wf ofH 250] EX| oilSst7| o0& | Wizoll IX2 TE JHolzl= S0IRK| 4=ct 2
2 H2 A2 S W7t ofjet &3 U] 2o O SF= MEf 0|2 Xlllﬁl‘— X =22lot

T2l F1 ohtt]|E SHACh HIS B2 AE0| Il—-l ZHet AKX, 2E 7 FRIS0| 250| MZ HUTh= Aof|
sl XMEsh= AS E7|= A2 OLCh m2tM Hiet 20| Z2t2 Y2t siefate =M ARl CHi7EM “ef gil2 g
ALKt Z SAULILI" 2D USEX| otk

| =M | 218 And since it was the purebreds, not the mixed-breeds that resembled their owners ~: the purebreds,
not the mixed-breeds7} ‘it was ~ that’ Z=F20|| 2l Z=& 2%o|ct,
243 not all dog owners enjoy having the resemblance pointed out to them.: ‘have + SX0{ + IHEAI FEIZ
M, ‘Rt £X| 42 o] F=ZII0IA YoRCH = AS YT mol= "galthel Qn|E 7HX|H, "ReIIt SehX|=S
ZH|'sk= W2 LE woll= AlI7|EFE SHMEICE 67|M= ‘galithe| o|n|2 Mt

| Vocabulary | 1. separately 2. warning 3. support 4. outgoing 5. predict 6. observation 7. initially

| ParrotTalk | 1. They influence each other so much. 2. People buy dogs that look like them.
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READING 22 The New Internet Slang: Netspeak

Vocabulary

Parrot Talk

22

228

25

1

1.
2.

. Netspeak7t & THS2| FOIE Yx|2 U= A2 OfdX|of Chsl MY, £2, J2|0 HOSIRES| M2S JIssia U

rr

20ICt,

. They say Netspeak and the Internet are helpful because they motivate kids to develop an interest in

reading and writing.(11&)oflA 22kl HE0|Lt HIAIX S&20f of0|S0] MECt &f 22 M1 SMASS ot UArtn H

Fsta At

. linguists say that most teenagers know when Netspeak is appropriate and when it is not.(22&)oll A HE 2]

CIAMZ 32 4 It

MM 2RSS 4 thS0| Netspeak ARBSHS 200f Chsll ZISHRISH 2lofsiiS2 @5l2f =20| Bckn Ukn U
x

M=Z2 2IE{Hl 20]: Netspeak

ltns!, do u wan 2 mmas?

0|H2 LR A0 7|z[5HR(2t tHREES| Ol= & tiE2 J210| F& LQIX| Y ULk IR CXE S A0{el
Netspeak?| oflo|ct. 222 UL AEEE, H&IX TJ2|10 JCy ._12}7|-I EXt HIAIXIOA HAIXIS 2] ’.‘_"':E%} | 2/a
M AR =Xt 3740] 2% 22 2|0|5H=7}? Long time no see! Do you want to meet me after school?(2# CH gt

1t Zofl eHE7k?)E 2lo|ict.

4 CHE ALO|OlM NetspeakQ| SHik2 MMEHSHI HosS ZFEAIZICH 252 Netspeak? AZ0| St
St =xf, 258 J2|1 EHE FAlot=E AFSICtD FESICE OS2 Netspeak7f OIE M5l SHES9| OJAtA
& 71&8 YR At st

2Lt A0{SIXIEE S2lotX| 4=Lt. 252 Netspeakt QIELI0] OtOISOHIA| 7|2 A7(0f BalE HEE SIIE 2
Ofot7| miZofl ==20| Elctn it 22101 e, AKX J2|1 227 S20f H20/52 MECH O Fo| 22 410 M2
OAIASS ot ULt

QIOfSIRIS2 E5t Q2|7 MEXQI 2M7|of| w2t NetspeakS BHEtsiAls OF Eictn ahsict A1 7|20| #Haln 7|
20 Z0{7t Mot QUL Netspeak— (Have a nice dayE HANDZ M= Zint Z2) FEXI0{(FEX F58)2t (because
£ cozZ M Aut Z2) FE TOES AISSICE J2{L Holet o7E £0 M= W2 USSR ¢ MEXI= 24Ch
QIE{llo] S&GH7| M Moz A i T2 H{SXE mathematics7t mathZ, examination0| exam2Z E0{H!
=0[, Fof HOIS2 O 7 oSS EUAEMN 3 ZISKRiCE. IX2 210{2] ZIsto|Ct.

MMEHET 2mo| Z2H0l|= E7otn COSIXIES 22| & HE0| Netspeak”Zt &S et JZX| 42 HE Y0
2l LS A tHE2 150| 220N MES & I AF8st= 017f st =25 M| 2lsh ALE3loF ah= 21012} 2
5| CHECH= A2 Olsefct 12|11 Netspeak”t OFX|Zal ME i 22 A= AIZEE o5l0ia 0/ FACE ¢ HO|
Al EX|= Z2X|2H A tfS0| o2of] d35t7| 2lsiAM 1%0||71I HZE F0IE 712X = A2 oTs| S2sich

n K
[u}
rd
o

s most teenagers know when Netspeak is appropriate and when it is not.: it is not Ct30f gH=2 nlst7| ¢
5lf appropriate7} M2tz|ULCE

o2

And while Netspeak might get reluctant readers and writers to communicate more in these formats
~‘get + SO + toFFAF HEHZM, “~0llA| -2 st sichel oln|E 7HzEich

.reluctant  2.ignore 3. bizarre 4. proper 5.concern 6. widespread 7. motivate

They use Netspeak when they're chatting online or sending instant messages.

She thinks Netspeak might destroy Jessica’s ability to communicate.



READING 23 Global Seed Vault p. 97~100

|  Words | .b 2.a 3.c 4d 5e 6g 7.h 8f

| Ed¥g | .d 2a 3c &b

| StoryMap | (1) agriculture  (2) civilization ~ ()vault  (4) seeds

(I = 1. Global Seed VaultE #cHEr l-0t2] 0] HIRsHH Al Je8z 47t 22| M=L2 7iE MESITh

2. =02} tig= Olop|e] eok= 2E B2 SAIE & ¥S UFol Mo BES ooz H M2l MotE Global Seed
Vaultoll 225k= =29)0] &= ofol| HIRE 4 UCh

3. 0k= 0|2 SAIE & A4S 25 X8 Z J0iAIM & 4~ = wE2 0l2| EH|stkk= Z0ICt

SE=E

4. Everyone hopes they won't be needed.(30&)0llA b7t 22| Li&xt LUX[GHK| ASS & 4 UCh

| 2= | = SX MEL

22| 5= =0t thE45 o7 thH|RM=X(0l 25t 42 0[0F7|E 2T Urt. J= WHo| 2= 59| (S412) 3t 42
EZso=M Ot MYo| BE F X7 dIHE =7 + U

2= LOotXE X7 2H2tZ 218 ST 4 E= HTYOILE Hiiet 249 Z=ut 22 IR0l Stiet /IF
= CHE Mol HHESX|= RECE T2t 1Y ol A0I=X| AlZ0| A2h= Xt MAIX|RE Mot Zetet AlE I At
HE ThE = AS AOo|Th Mof0] QIftH 582 £7Hse XoICt. Yl 22 2 2

O 0|RO0llA SchEr L-ote] BiF7t 2008 28 -290l0f|lM HAMEQ{CE 2R
ZO|Lt B2 MFT 20| SRt 271S Batsly| gt ESotn 2Tt MFA0|CE a2iLt 0] 74—?—01|E —E—%!'QI 7I%‘.’_| %ﬁ

saoﬂ>

o

g Mot 22517| #iet Z0|ch MSto] Xt MAX|OIA TiajE o =M SAF MYA7} x| SS#0| =t o]t Aoz F

o ChpMO| HES 4 U S AAsHA HEE 4 U

O MEAE 230|M 22 800Z20|E| Ho{El =290]2| FA| =2 Spitshergen 2| ojE2 A £0= 1300|E
ot S0{Zt S2 2fofl Aot £ Fo| L2 AZE0| M| I XMAEA Etz|m QU oES AL & 22 oA MSAE

2 TAh7| S A M= AS WOo|Th IROM NS S A, X|F J2|1 X7 2HH510| CHE HFSZHE] QFHsiT.
290] HRIt =M Xt MEYLASE ARGID UX|P, OHE =715 Eot FEE NS Bkt B = AMEX| 1
MNASES 7 4= AUCE A HZ BT 22 10470 710N Raligh ChE SS2| BollM L2 SN SXIct O Z=HE
o FAIRE0| XF el BE SYUE AMZo M MES Motz ot 7| mEol| +H 50| o F7i=|m AUCk 2= At
HE2 1 MAS0| ZeskX| 27 =7|E ditch J2iLt f2l= =ote] X§25FH e Ftlstn U= Aol 7HE Eot=

A= HiR{OF Bt

| T=2siE | 128 Without seeds, agriculture would be impossible.: ‘without'2 ‘~0| QICtH'0|2l= o2 “if it were not for
seeds’Z HHPO| & 4= QUCh
253 other countries can also deposit their seeds without charge and withdraw them whenever they need
to.: need to2] to= CHEMALZ, to withdrawOllAl withdraw7t A2Fz|ict

| Vocabulary | 1. alternative 2. encountered 3. habitat 4. disasters 5. threat 6. impact 7. restore
| ParrotTalk | 1. A disaster could destroy the natural habitats of plants, which in turn could leave nothing for humans to
eat.

2. After a disaster, people might be able to grow food from the seeds and thus save people.
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READING 24 Tricked out of Love p. 101~104

|  Words | b 2.c 3.d 4a 5e 6h 7.g 8f
| Exgg | 1.d  2.b 3.c 4 % 2HO| JAu WA 7|3E HX| REfCh
(I = 1. A2 27 2 2o BES M A HHo| HME SHM =R LES |LsI0 VMRS M= HolM /s
9| th72tar g 4~ ACH
2. 70 HO| LR THOI = 21 HORE A0 22 HEJeDZ £71 H2 £2 Z0|Ch

[e]]

o
4. 31 0| UHS FOL WHTIZ A HAIS Sl KIS PESHH L] A ZAZQICH HoIN S &S 4 2

poh
o

| =Es | Sel4o0ll it A3 ALt sic
A0l 412 WLPH ol 5 ARS SE 2122 YHOIRIT s =ol2h Bhlo] ol ofFA| MOF otn ude) Bae
OffH o] Lio} SHEXIE G2 MBS 2m RICk T217 1 7+ 121 o] HORICH YA B2l IUE B RS
A7H517] 9fsH 214 BO2 HOIZIC 0l B2 WADF LM, B2 JU0lA B2 FXin 23k R X 1
S RGIRICE J2iLt Ehale] et B 7lD U W, GAS Tt 23 Uo| ofLizt BYI2S HAKE 271 AlZolet

o>
g|=l
Hr

HE= OHE £350 B2 ASXME AS0| HAGH] of= O|Met 22 22 Z7IRE M= AS EofF 252 Ze=
STt Ol BRL| HaE 22 TofE £ 579 LS RUSI=SE Zlstsl RiCh 1 Hx= AN HHAMH 20|0, F2
Aol Zt= SIS 2 Hof U= £2 US0] WO HEs Eot A% LEO| JiAlet 22 i, CHA| 2ol 27| 2HS0] ot A
X|of H=7F BHS0] L= 22 Timb 421 Lol HANECH =M o 25k |7EX] S w2t ZEXTE g2 gl Aol
Z 2Ho| 2ol U™ T 22 AA YHECH HRE MEIS o]k
70 LHO| HEol Lol 52 SHE 0f LE2 HEO| ZIIRE FFQICH LHO| CHS ol CHE 20fo] AE 3o
I e, HIE O X2 23 TR 7[2lE HX| Retat: O ZIIFE Qo HRS0| HAGH sif £ Zi0|CH
| =ald | 9 If you'd been the wasp in that situation, you'd probably have flown away disappointed at being tricked.:

If + 201 + had p.p., 01 + would/could/might have p.p.'2| 7Fde ntAtz SHEHZM, ‘~3HEH2H - FHSHIH!
2 Mg 4= Ak

1284 all they've found is Ophrys speculum ~: they've found7} allE A5t HEAME0|1, all CHSof| ZHAICHEAL
thato| M2F=|RACE allo] everything®l 5502 ARZE|H the XS 17| WhE0l| areZt OfL|at is7H ARSEIRCE

| Vocabulary | 1. bumped 2. deceived 3.over 4 blooms 5. disguise 6. perfume 7. breed

| ParrotTalk | 1. It looks like a female wasp and it smells like one, too.

2. When a male wasp lands in the flower or brushes by, it gets pollen on it.
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